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Order the following set of numbers

Order The Numbers >locVl ui)s

from least to greatest:

{3.13,2. 5, ?./E,\/E}

O

2.5.3.36.2.VS
{ 5
{%,2. 5,%,3,x/§}

4
{3 2.5 36 ,4../5,—5}

{3{/3. \/3132 5, 3}

) ) e AnlEl Mac) Ac gasa )
:‘HSEH

7
{3.—3,2.5,:{’{3,\/’3}



Solve The Equation 1d)i el J=>

Solve the equation: cddalaall Ja

1 s 11?:'.1 1 Lo 16
2%~ P2 27 P2

O s =11

O s — 33

O s =2



The Decimal sl >asll

Write —1§ as a decimal. J(GEE 2 B) gea 9:. —lg tiS}
O —1.6
@ —1.2
o -3

0
|



laws of Exponents juwl! ;uilgd

Simplify 2m(8m?) using the Laws L) il aladiul 2m(8mS) b

of Exponents.

O 10m°S
O 16mMm°
O 10m°®



Negative Exponents dJlull juw)l

Simplify (3a)(a"3). Byga bl ) (Ba)(a™?) Ji=
o 3a?®
o :
O 3



Square Root s )dl ja=Jl

. 25 25 ‘
— == — 2= s
Find s - e =5
25
36
25
36
5
@) 2

0



Solve Multi-Step Equation juebsy OVoleall J>

Solve the equation: Al Ja
- 1 2 —1-9~
3%~ 1=9- P 3 - 6>

O x — 12

O x — 60

O x = —12

O x — 10



> W

W o

Find the slope of the line.

, adliaall i) (Jua 23l



Equation in Point- gbhidollg Jradl oudiuue ddleo

slope
Write an equation in point-slope anliecall Jadll ddadig Juall dzacas Alalaa aS)
form for the line that passes 5 08 Juas (3,2) e san (sl

through (3, 2) with a slope of 5.

O Yy — 2 = 5(x + 3)
O Yy — 2 = 5(x — 3)
O v + 2 = 5(x — 3)



Laws of Exponents2 2 juw)l ;uilgs

Simplify ((__22))5::: using the Laws of PV -GN RECA R ((__ 2;)5:::
Exponents.

o (—2)€ < 3°

o (—2)* < 3%

'®) (—2)* < 36

O —(2)* < 32



0 0 0 O

Solve the equation:

—8(w — 6) = 32

Solve Equation 2J\bleoe >

radalaall Ja
—8(w—6) =32



System of Equations O\ lsall pUss

Solve the system of equations LG cialaal) allad (s as gl
algebraically. y =x — 3
y =x — 3 y = 2x
y = 2x
O x = —3, 9y =—6
O x = 3,y = 6
O x = —3,y — 6



Solve the following system of el ol il (A Yol ol s

2,1)
equations using the graph: el
y=12x+1 y=2x+1
Ja dia gl y=1x-13 y=2t-3
There is no solution. o/ }--}
4
y=%+1 g ll ll
gl g g o S \Wi /[I
There is an infinite number of solutions. NIEW .1’ 73 45X
1A
l - | y: 2x - 3~
(2:3) {-P | '




x=3.5y
y=7x

y=3.5x
y=2.5+x

diluaal) Jlaa) el ibal) Jihadl) guiag,
IS L aalg Eeaad S ARS LSy Al
Sy Al y cltaghall e sla ddalaa

X ¥ e 236 (gf

¥ 20
18 |2
. (5, 17.5)
= 16
3 14 *<(4, 14)
q
,1 10 l(3, 10.5)
9 2 <(2,7)
X4 (1, 35)
2
E X
S 0 2345678910
(pLL) Go



Function dJlJJI

J(x)=2x+1 8 f(—3) 2y



Scientific Notation ywlsl| juo,dl

Express “130 billion” in scientific cealad) a7 jlla 1307 2aad) (e i
notation.
O 1.3 x 10'°
O 1.3 < 10°
O 1.3 x< 108

O 1.3 < 1011



The Slope and y-intercept bdsallg Jroll

State the slope and the y-—intercept Juiadll y G_.,....L.H seaall aa alaldnlly Jaall 2da
for the graph of the equation .3x + Yy = —4 alalaall bl
3x +y = —4.

.—4' Jﬁ y g“"""i)]‘ )}&.A.“ &d &h‘-ﬁ:ﬂ“’ s—3 (5"1.‘.*_1 Hﬁ:h.u-b.“ ‘_'L;I.A
The slope of the graph is —3, and the y—intercept is —4.

.3 52 Y bl saall aa allElly (4 (Solew asiiacal) Jua
The slope of the graph is 4, and the y—intercept is 3.

A 9a Y bl s 9aall aa akaldEElly (3 (Solew anftiaal) Jua
The slope of the graph is 3, and the y—intercept is 4.

—4 sa Y ) s saall 2a abldilly (3 (Solew asBiocall Jaa
The slope of the graph is 3, and the y—interceptis —4.



Linear Relationship dib=ll dsl\=Jl

A zoo charges a rental fee for de As WU Law) Olgea Afuaa (a8
strollers, plus AED 20 per hour. Asla I3 AED 20 J) 43l (Jlakly)
The total cost for 5 hours .AED 130 2 clelu 5 3 4.i<)) 4aial
is AED 130. Assume the acal) dasd aagl Lduad ASMall o i 38)
relationship is linear. Find the value AT bt |

of the rental fee.

AED 20

AED Z20

AED 110

AED 100

0 0 0 O



0 0 0 O

Direct Variation b )blJl jusidl

A charter bus travels 210 miles in 2 Ve 210 Adlecal 5af ABla AL
3.5 hours. Assume the lgakad Aty Al dBlecall o) 38l LAcll 3.5
distance traveled is directly Adalaa GS) L (8 adeal) Gl gl) aa Lk el
proportional to the time spent. Skl aenl)

Write a direct variation equation.

Vv + 60 x — O

x — — 60 v

¥y — 60 x



bbb oA

hbhoh A

win b oW 5
L]
o
w

The graph LJl Juadl

Y = x — 5 A Slead) Jasanl) saa

N B oo S




